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ORIZZONTALI VERTICALI
7007 - 10. 2165 - 6335- 7. 8663-
3586 = 365-= 2076= 3659=
9622- 12. 8757- 7001- 9. 9262-
2719-= 578 8= 828= 2641=
5742- 13. 50609- 9034- 11. 8798-
3153= 336 8= 5984-= 527=
8744- 14. 9379- 9798- 12. 9981~
1008+= 3904= 8006= 7124-=
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ORIZZONTALI VERTICALI
7007 - 10. 2165 - 2. 6335- 7. 866 3-
3586 = 365-= 2076= 3659=
3421 1800 4259 5004
9622- 12. 8757- 3. 7001- 9. 9262-
2719= 5788= 828= 2641-=
6903 2969 6173 6621
5742- 13. 50609- 4. 9034- 1. 8798-
3153= 336 8= 5984-= 527-=
2589 1701 3050 8271
8744- 14. 937 9- 5. 9798- 12. 9981-
1008= 3904-= 8006= 717124-=
7736 5475 1792 2857
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